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ANSWERS TO "TRY YOURSELF" PROBLEMS FROM STUDY SECTION 3.4; 3.5 AND 3.6 

 

Try Yourself 3.6 

Predict the products of each precipitation reaction and then balance the complete equation 

 

Lead(II)nitrate(aq)  +  Potassium bromide(aq)   ? 

Calcium nitrate(aq)  +  Potassium fluoride(aq)   ? 

Sodium carbonate(aq)  +  Copper(II) chloride(aq)   ? 

Nickel(II) chloride(aq)  +  Potassium hydroxide(aq)  →  ? 

 

Answer: 

Lead(II)nitrate(aq)  +  Potassium bromide(aq)   ? 

Pb(NO3)2 (aq)  +  2KBr (aq)  →  PbBr2 (s)  +  2KNO3 (aq)  

 

Calcium nitrate(aq)  +  Potassium fluoride(aq)   ? 

Ca(NO3)2 (aq)  +  2KF (aq)  →  CaF2 (s)  +  2KNO3 (aq) 

 

Sodium carbonate(aq)  +  Copper(II) chloride(aq)   ? 

Na2CO3 (aq)  +  CuCl2 (aq)  →  2NaCl (aq)  +  CuCO3 (s)  

 

Nickel(II) chloride(aq)  +  Potassium hydroxide(aq)  →  ? 

NiCl2 (aq)  +  2KOH (aq)  →  Ni(OH)2 (s)  + 2 KCl (aq)  

 

 

Try Yourself 3.7 

Write a balanced net ionic equation for the following reaction: 

Aqueous solutions of calcium chloride and sodium phosphate are mixed. 

 

Answer: 

Full balanced equation:  3CaCl2 (aq)  +  2Na3PO4 (aq)  →  Ca3(PO4)2 (s)  +  6NaCl (aq) 

 

Balanced Net ionic equation:  3Ca
2+

 (aq)  +  2PO4
3-

 (aq)  →  Ca3(PO4)2 (s) 

 


